a d
AU IAINIINATAAT

s LY = d
URINNAHAIVATHATUNG

AN9EALNAINNAA UTEanniansANET 1 szanilnsAnm 2550
Fun 31 nangaAw 2550 wa1  13.30-16.30 W.
91 215-222 Mechanics of Materials 1 Wag A 407

Qb-979
A

S
1. dagauivionua 6 wirldsndn /Iiynda
1 L o A [
neeatliwe A umas

Tlayaymenans / wkdeladtiesasy

Bow N

BYNNPANNTEAAL ANEALED

o

AYDYIALATEIAALAT

6. liaymaldtindnmacuide Shop / Jacket ynaliaditiesaay

HA.ATISTIUENT  LATIYNA

.88yl SERTAL TG ]
geandaany
TB-ATI ..o THB e everee oo
9 [~ 9
) AZLUULAN 1a
1 20
2 20
3 20
4 20
5 20
6 20
PREY 120
L




A

%0 na na ADU

Q1. veagiiudurhugudnatamouen 240 mm wu1 10 mm 8719 2 m Aag1 Sus98a 640
kN Tasiaums sife E=73 GPa uoz v = 033 1am
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Q2. The machine part as shown is 10 mm thick and is made of stainless steel. Determine
the maximum safe load P if the maximum normal stress is not to exceed 760 MPa.
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Q3. Shaft CD is made from 60 mm-diameter rod and is connected to the 48 mm-
diamjeter shaft AB as shown. There are only stresses due to twisting. Knowing that the
allowable shearing stress is 60 MPa for each shaft, determines the largest torque T that

can be applied.
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Q4 MU AB meglunnszdy 1 veu strut CD nsessuiiga € Awaaalugd (@)
fiyalaww Biiusa P=25001b wnsziin - denudueuiuiaiulu bolt ldda
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Q5 uiamiin AB waz wivegiiiion BC  donfafuiisn B waw Auazilaw C
ﬁﬁﬁﬂuﬁuﬁ’wﬁqﬁmﬂm‘lugﬂ (5)
ué’riamé‘ﬂﬁfh modulus of elasticity, E; = 30%10° ksi R fudnida A =20 in”
g1 Ly = 80 in uazfimdulssdnimsveod a, =7x107/°F
imaegiiiflentiah modulus of elasticity, B> = 10X10° ksi , Sinufintida A,= 3.6in
oML, = 60 in unsfimdulszdnd msvewin a, =13x10°/°F
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